

Focus on the solutions of the delay differential equations

Anmar Hashim Jasim

Department of Mathematics

College of Science

Mustansiriyah University

Baghdad

Iraq

Abstract

Studying the solutions of the Delay Differential Equations (DDE) is interesting here, where is interested in a 1st order DDE with its solution. Then a DDE of the first, second... and n-th order is introduced to obtain a solution form using Laplace transform. The results outcome from theorems, corollaries, and propositions are proved in this work to clarify a solution. Finally, applications are mentioned with details in solved examples as implementations of the theorems here.

Subject Classification (2020): 34A05.

Keywords: DDE, n-th order of DDE, Series rule, Continuous function, Root.

1. Introduction

Here the abbreviation DDEs is used for delay differential equation. A DDE solution has attracted the concentration of many mathematicians. Now, are stated some DDEs which are studied here to get a form for their solutions. The authors in [1] are introduced DDE $y'(t) + a(t)y(t) + p(t)y(t - \tau) = 0$, while $(1 - t^2)y''(t) - 2ta(t)y'(t) + p(t)\lambda(\lambda + 1)y(t - \tau) = 0$ is submitted in [2]. Moreover, $[r(t)y'(t)]' + a(t)y(t) + \lambda p(t)y(t - \tau) = 0, a(t) \geq 0, p(t) > 0, \& r'(t) > 0$, as continuous in $[A, B]$, $\& \tau, \lambda > 0$ are constants given in [3]. Second-order DDE is also of paramount importance to many authors, e.g. [4]. Also, 3^d and 4th order of a DDE is interesting respectively in [5] and [6]. Laplace transform (concise here by $\mathcal{L}$) features are utilized herein. Like in [7] and [8] as follows: $\mathcal{L}$ convolution is $(x * y)(t) = \int_0^t x(u)y(t - u)du$,

E-mail: dr.anmar@uomustansiriyah.edu.iq

& x, y are continuous functions $\mathcal{E}\{(x * y)(t)\} = \mathcal{E}\{\int_0^t x(u)y(t-u)du\} = \mathcal{E}\{x(t)\}\mathcal{E}\{y(t)\}$.

In the focus of the study, obtaining a newfangled formula of DDE solution is interested in presenting proven theorems with specifics. Sometimes, $\mathcal{E}$ is used here on above equations where obtain a solution. It is showed in proven theorems, in addition to proven corollaries with proposition. Furthermore, n -th order DDE is introduced here. Applications are represented by solved examples to show each case. Also one can see [9] and [10] for more details on the solutions of DEs.

2. Delay Differential Equations and its solution's property

Theorem 1:

$$y'(t) + a(t)y(t) - p(t)y(t - \tau) = 0, \quad (1)$$

$a(t) \geq 0$, $p(t) > 0$, be continuous in $[A, B]$, $\tau > 0$ be arbitrary, (1) has a solution of the form $y = \alpha e^{-x} - x - b$.

Proof: $y'(t) = p(t)y(t - \tau) - a(t)y(t)$, set $u(\delta) = y(t)$, $\delta = \mu t$, $\mu > 0$, $\frac{d\delta}{dt} = \mu$, and by the series rule $\frac{dy}{dt} = \frac{du}{d\delta} \cdot \frac{d\delta}{dt}$ so $\frac{du}{d\delta} = \frac{dy}{\mu dt} = \mu^{-1}[p(t)y(t - \tau) - a(t)y(t)] = \mu^{-1}[p(t)u(\mu t - \mu\tau) - a(t)u(\mu t)] \frac{du}{d\delta} = \mu^{-1}[p(t)u(\delta - \mu\tau) - a(t)u(\delta)]$. Now put $\mu = \frac{1}{\tau}$, $b = a\tau$, $\alpha = p\tau$. Then

$$\frac{du}{d\delta} = \alpha u(\delta - 1) - bu(\delta) \quad (2)$$

Put for elucidation, $\emptyset(u) = \frac{du}{d\delta} - \alpha u(\delta - 1) + bu(\delta)$

To get it as an imaginary number $\xi = x + iy$ such that $u(\delta) = e^{\xi\delta}$ be a solution to (2) $\emptyset(e^{\xi\delta}) = \xi e^{\xi\delta} - \alpha e^{\xi(\delta-1)} + b e^{\xi\delta} = e^{\xi\delta}(\xi - \alpha e^{-\xi} + b)$

Inasmuch,

$$\vartheta(\xi) = \xi - \alpha e^{-\xi} + b = 0 \quad (3)$$

So $\emptyset(e^{\xi\delta})$ be zeros of a function, therefore $u(\delta) = e^{\xi\delta}$ be the solution of (2). For solving (3), put ξ in a complex form:

$$\begin{aligned} \vartheta(x + iy) &= x + iy - \alpha e^{-x} \cdot e^{-iy} + b = x + iy - \alpha e^{-x}(\cos y + i \sin y) + b = 0 \\ x &= \alpha e^{-x} \cos y - b, \quad y = \alpha e^{-x} \sin y \end{aligned} \quad (4)$$

Thus the above system (4) is solved to give $y = \alpha e^{-x} - x - b$

Definition 1: A complex number ξ is called the root of π -the order, $\pi \geq 1$ to (2) if $\vartheta(\xi) = \vartheta'(\xi) = \vartheta''(\xi) = \dots = \vartheta^{n-1}(\xi) = 0, \vartheta^n(\xi) \neq 0$.

Theorem 2: Beneath are verified for (3):

- (i) Specifically, non-negative of a real root exists of (3) if $0 \leq b < \alpha$.
- (ii) Precisely, non positive of a real root it has when $\alpha < b \leq \xi - \alpha e^{-\xi}$.

- (iii) There is no real roots if $b > \xi - \alpha e^{-\xi}$.
 (iv) The origin point is a root if $\alpha = b$.
 (v) It has one real root of the 1st order, $\xi = -1$ if $b = \alpha e^{-\xi} - \xi$.

Proof: Obviously (3) is non decreasing and since it intersects x-axis accurately on a single point. Because $\alpha \geq 0$, and $b \geq 0$. (3) leads $b = \alpha e^{-\xi} - \xi$. Would be easy to get non negative real root to (3) if $0 \leq b < \alpha$. Also, the equation's graph intersects non-negative x-axis in a single point, which is proof (i). Continue to prove 2nd assertion, that is satisfied since if $\alpha < b \leq \xi - \alpha e^{-\xi}$, so just negative are roots. i.e. equation's graph intersects only at one point with the negative x-axis. Hence, (ii) is verified. Besides, it doesn't intersect x-axis, then diagram be over the x-axis if $b > \xi - \alpha e^{-\xi}$ add to that up the x-axis the equation has minimum. i.e. Roots aren't exist. So, (iii) is satisfied. (iv) Since the equation's diagram meets x-axis only in origin if $\alpha = b$, which is root. (v), it's diagram intersects x-axis in a single if $b = \alpha e^{-\xi} - \xi$, then $\xi = -1$ is root of 1st order because $\vartheta(-1) = 0$ & $\vartheta(-1) \neq 0$.

Lemma 1: Bellow verify to (3)

$$\text{If } Y = \frac{(2n+1)\pi}{2}, \text{ then } \alpha = \frac{2}{(2k+1)\pi} e^x, k = 0, \mp 1, \mp 2, \dots$$

Proof: Eq.4 gives $\frac{\sin Y}{Y} = \frac{e^x}{\alpha}$ such that when $Y = \frac{(2k+1)\pi}{2}$, then $\alpha = \frac{2}{(2k+1)\pi} e^x, k = 0, \mp 1, \mp 2, \dots$. Proof is finished.

3. Another form to a Solution by Using Laplace Transform

Theorem 3: Let

$$y'(t) + a(t)y(t) + p(t)y(t - \tau) = 0 \quad (5)$$

Such that $a(t) \geq 0$, & $p(t) > 0$ be continuous in $A \leq t \leq B$ and $\tau > 0$ is arbitrary. In addition to primary condition $y(t) = \vartheta(t), -\tau \leq t \leq 0, \vartheta$ be continuous. Thus solution of (5) be $\mathcal{A}(u) = (u + A(u) + P(u))^{-1}, A(u) = \mathcal{E}\{a(t)\}, P(u) = \mathcal{E}\{p(t)\}$

Proof:

$$y'(t) = -a(t)y(t) - p(t)y(t - \tau) \quad (6)$$

Put $\mathcal{E}$ direct on (6) and use the properties of $\mathcal{E}$, where $\mathcal{Y}(u) = \mathcal{E}\{y(t)\}$, $A(u)\mathcal{Y}(u) = \mathcal{E}\{a(t)y(t)\}$, then $u\mathcal{Y}(u) - \vartheta(0) = -A(u)\mathcal{Y}(u) - \int_0^\infty e^{-qu} \rho(u) du$
 $\int_u^\infty y(t - \tau - u) e^{-u(t-\tau-u)} dt = -A(u)\mathcal{Y}(u) - \int_0^\infty e^{-qu} \rho(u) du \int_0^\infty y(t - \tau) e^{-u(t-\tau)} dt$
 $\frac{d}{dt} = -A(u)\mathcal{Y}(u) - e^{u\tau} \int_0^\infty e^{-qu} p(u) du [\int_0^\tau \vartheta(t - \tau) e^{-ut} dt + \int_\tau^\infty y(t) e^{-ut} dt]$,
 herein the initial condition is used.

$$u\mathcal{Y}(u) - \vartheta(0) = -A(u)\mathcal{Y}(u) - e^{u\tau} \int_0^\infty e^{-qu} p(u) du [\int_0^\tau \vartheta(t - \tau) e^{-ut} dt + \int_0^\infty y(t) e^{-u(t+\tau)} dt] = -A(u)\mathcal{Y}(u) - e^{u\tau} \int_0^\infty e^{-qu} p(u) du \int_0^\tau \vartheta(t - \tau) e^{-ut} dt - \int_0^\infty e^{-qu} p(u) du \int_0^\infty y(t) e^{-ut} dt]$$

$\theta = \mathcal{E}\{\vartheta\}$, that ϑ is protracted to $[-\tau, \infty)$ to $0 \forall t > 0$. $\varphi Y(\varphi) - \vartheta(0) = -A(\varphi)Y(\varphi) - e^{\varphi\tau}P(\varphi)\theta(\varphi) - P(\varphi)Y(\varphi)$

$$\varphi Y(\varphi) + A(\varphi)Y(\varphi) + P(\varphi)Y(\varphi) = \vartheta(0) - e^{\varphi\tau}P(\varphi)\theta(\varphi)$$

$$Y(\varphi) = \mathcal{H}(\varphi)[\vartheta(0) - P(\varphi)\theta(\varphi)]$$

Hence $\mathcal{H}(\varphi) = (\varphi + A(\varphi) + P(\varphi))^{-1}$ is a solving to (5), such that $P(\varphi)Y(\varphi) = \mathcal{E}\{\rho(t)y(t)\}$, $P(\varphi)\theta(\varphi) = \mathcal{E}\{P(t)\vartheta(t)\}$, $\varphi + A(\varphi) + P(\varphi) \neq 0$

Theorem 4: Let

$$(1 - t^2)y''(t) - 2ta(t)y'(t) + p(t)\mathcal{L}(\mathcal{L} + 1)y(t - \tau) = 0 \quad (7)$$

$a(t) \geq 0, p(t) > 0$ be continuous in $A \leq t \leq B$ and $\mathcal{L} > 0, \tau > 0$ be constants. In addition the primer stipulation $y(t) = \vartheta(t), -\tau \leq t \leq 0$, and ϑ be continuous. Then (7) has solving $\mathcal{H}(\varphi) = [\varphi^2 - \varphi A(\varphi) + \mathcal{L}(\mathcal{L} + 1)P(\varphi)]^{-1}$

Proof: Lay $(1 - t^2) = 1$ & $2t = 1$. $Y(t - \tau) = \vartheta(t - \tau), 0 \leq t \leq \tau$

$$y''(t) = a(t)y'(t) - \mathcal{L}(\mathcal{L} + 1)p(t)y(t - \tau) \quad (8)$$

Pick $\mathcal{E}$ on (8). $\mathcal{E}\{y''\}(\varphi) = \int_0^\infty e^{-\varphi t} y''(t) dt = \varphi^2 Y(\varphi) - \varphi \vartheta(0) - \vartheta'(0)$

So (8) produced based on $\mathcal{E}$ properties and theorem 3.

$$\begin{aligned} \varphi^2 Y(\varphi) - \varphi \vartheta(0) - \vartheta'(0) &= A(\varphi)[\varphi Y(\varphi) - \vartheta(0)] - \mathcal{L}(\mathcal{L} + 1)P(\varphi)[e^{\varphi\tau}\theta(\varphi) + Y(\varphi)] \\ &\rightarrow Y(\varphi) = \mathcal{H}(\varphi)[(\varphi - A(\varphi))\vartheta(0) + \vartheta'(0) - \mathcal{L}(\mathcal{L} + 1)e^{\varphi\tau}P(\varphi)\theta(\varphi)], \\ \mathcal{H}(\varphi) &= [\varphi^2 - \varphi A(\varphi) + \mathcal{L}(\mathcal{L} + 1)P(\varphi)]^{-1}, \varphi^2 - \varphi A(\varphi) + \mathcal{L}(\mathcal{L} + 1)P(\varphi) \neq 0 \rightarrow \\ \mathcal{E}\{a(t)y'(t)\} &= \mathcal{E}\{\int_0^t a(u)y'(t - u)du\} = \mathcal{E}\{a(t)\}\mathcal{E}\{y'(t)\} \end{aligned}$$

Hence $\theta = \mathcal{E}\{\vartheta\}$, that is protracted to $[-\tau, \infty)$ to $0, t > 0$. Such that $A(\varphi) = \mathcal{E}\{a(t)\}$, $P(\varphi) = \mathcal{E}\{p(t)\}$, $Y(\varphi) = \mathcal{E}\{y(t)\}$.

Corollary 1: Let

$$[\mathcal{r}(t)y'(t)]' + a(t)y(t) + \mathcal{L}p(t)y(t - \tau) = 0 \quad (9)$$

where $\mathcal{r}'(t) > 0, a(t) \geq 0, p(t) > 0$ be continuous in $A \leq t \leq B$. Where a scalar $\mathcal{L} > 0$ and a constant $\tau > 0$. Then (9) get solving form $\mathcal{H}(\varphi) = [\varphi^2 \Gamma(\varphi) + A(\varphi) + \mathcal{L}P(\varphi)]^{-1}$, $\Gamma(\varphi) = \mathcal{E}\{\mathcal{r}(t)\}$, $A(\varphi) = \mathcal{E}\{a(t)\}$, $P(\varphi) = \mathcal{E}\{p(t)\}$. The proof is clear.

Proposition 1: Let

$$y^{(n)}(t) + a(t)y(t) + p(t)y(t - \tau) = 0 \quad (10)$$

And $a(t) \geq 0$ and $p(t) > 0$ be continuous in $A \leq t \leq B$. besides positive τ be constant. Also, the primary term $y(t) = \vartheta(t), -\tau \leq t \leq 0$, furthermore ϑ be continuous. Then solution of (10) will be $\mathcal{H}(\varphi) = [\varphi^n + A(\varphi) + P(\varphi)]^{-1}$, $A(\varphi) = \mathcal{E}\{a(t)\}$, $P(\varphi) = \mathcal{E}\{p(t)\}$

Proof: Precisely $y(t - \tau) = \vartheta(t - \tau), 0 \leq t \leq \tau$

$$y^{(n)}(t) = -a(t)y(t) - p(t)y(t - \tau) \quad (11)$$

Take $\mathcal{E}$ on (11)

$$\begin{aligned} \mathcal{E}\{y^{(n)}\}(\varphi) &= \int_0^\infty e^{-st} y^{(n)}(t) dt = \varphi^n Y(\varphi) - \sum_{k=1}^n \varphi^{n-k} g^{k-1}(0) \\ s^n Y(\varphi) - \sum_{k=1}^n \varphi^{n-k} g^{k-1}(0) &= A(\varphi) Y(\varphi) - P(\varphi) [e^{s\tau} \theta(\varphi) + Y(\varphi)] \\ Y(\varphi) &= \mathcal{H}(\varphi) [\sum_{k=1}^n \varphi^{n-k} g^{k-1}(0) - P(\varphi) \theta(\varphi)] \end{aligned}$$

Where $\mathcal{H}(u) = [u^n + A(u) + P(u)]^{-1}$, $u^n + A(u) + P(u) \neq 0$. $\theta = \mathcal{E}\{\vartheta\}$, which is extended to $[-\tau, \infty)$ to be 0, $t > 0$. where $A(\varphi) = \mathcal{E}\{a(t)\}$, $P = \mathcal{E}\{p(t)\}$, $Y(\varphi) = \mathcal{E}\{y(t)\}$. As applications on the previous theorems are presented examples beneath.

4. Applications

Suppose the following DDEs

$$y''(t) + e^{-t}y(t) + e^{-2t}y(t-1) = 0 \quad (12)$$

A Comparison between (12) and previous Proposition is done, then

$$\begin{aligned} \mathcal{H}(u) &= [u^2 + A(u) + P(u)]^{-1}, \tau = 1 \rightarrow \mathcal{H}(u) = \left[u^2 + \frac{1}{u+1} + \frac{1}{u+2} \right]^{-1} \\ y''(t) - \frac{1}{2}(1-t)y'(t) + ty(t-3\pi) &= 0 \end{aligned} \quad (13)$$

Then after comparisons between (13) and Theorem 4. As well

$$\mathcal{H}(u) = [u^2 - uA(s) + P(u)]^{-1}, \quad \mathcal{H}(u) = \left[u^2 - u \frac{(u-2)}{2u^2} + \frac{-1}{u^2} \right]^{-1}$$

Be solution of (13)

$$y'(t) + \frac{1}{\tau e} y(t-\tau) = 0 \quad (14)$$

The same comparison (14) and Theorem 3. So its solution beneath

$$\mathcal{H}(s) = (\varphi + A(\varphi) + P(\varphi))^{-1}, \alpha(t) = 0, \mathcal{H}(\varphi) = \left(\varphi + \frac{1}{\tau \varphi} e^{-1} \right)^{-1}$$

5. Discussion and Conclusion

This work focuses on a valuable topic in mathematics (DDE). The important point is that there are different ways to solve these equations and therefore the form of the solution is also diverse. This research is based on evidence in a tactical and detailed manner.

References

- [1] G. Ladas and I. P. Stavroulakis, "On delay differential inequalities of first order," *Funkcialaj Ekvacioj*, vol. 25, pp. 105–113 (1982).
- [2] A. H. Jasim and B. M. Al-Baram, "Highlight on the solutions of delay Legendre problems," in *AIP Conference Proceedings*, vol. 2591, no. 1, pp. 050032-1–050032-6 (2023).

- [3] A. H. Jasim, "Studying the solutions of the delay Sturm Liouville problems," *Italian Journal of Pure and Applied Mathematics*, vol. 43, pp. 842–849 (2020).
- [4] B. Baculíková, B. Sudha, K. Thangavelu, and E. Thandapani, "Oscillation of second order delay differential equations with nonlinear non-positive neutral term," *Mathematica Slovaca*, vol. 72, no. 1, pp. 103–110 (2022).
- [5] K. Saranya, V. Piramanantham, and E. Thandapani, "Oscillation results for third-order semi-canonical quasi-linear delay differential equations," *Nonautonomous Dynamical Systems*, vol. 8, pp. 228–238 (2021).
- [6] M. E. Elmetwally, T. Ethiraju, M. Osama, and B. Omar, "Oscillation of solutions to fourth-order delay differential equations with middle term," *Open Journal of Mathematical Sciences*, vol. 3, pp. 191–197 (2019).
- [7] M. L. Abell and J. P. Braselton, *Introductory Differential Equations*, 5th ed. Academic Press (2018).
- [8] A. Rami, "Laplace transform of the product of two functions," *Italian Journal of Pure and Applied Mathematics*, vol. 44, pp. 800–804 (2020).
- [9] M. G. Mousa and H. O. Altaie, "Study on approximate analytical methods for nonlinear differential equations," *Journal of Interdisciplinary Mathematics*, vol. 25, no. 8, pp. 2623–2629 (2022).
- [10] H. A. Pacha, N. H. Said, A. A. Pacha, and O. Ozer, "Numerical methods for differential equations as encryption key," *Journal of Interdisciplinary Mathematics*, vol. 25, no. 8, pp. 2209–2237 (2022).

Received May, 2024